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eg Sixty adults with gum disease were asked the number of times per week they used to floss before their

=

diagnosis. The (incomplete) results are shown in Table 1.35. %
9 (incomplete) mels @ y4 — L[; z
# Flossing per Week Frequency Relative Frequency Cumulative Relative Freq. \L
Cohe |
0 27 0.4500 0.4So00
./—
1 18 O. 3000 > 0.7800
3 Lo— all = | ] 0.183%2 . / 0.9333
6 3 0.0500 —> 0.9833
7 1 0.0167 /‘ 000

Table 1.35 Flossing Frequency for Adults with Gum Disease

a. Fill in the blanks in Table 1.35. l/
b. What percent of adults flossed six times per week?
c. What percent flossed at most three times per week?
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90-109 35
104
110-129 7
69.5 89.5 109.5 129.5
130-149 1 Full IQ Score for Low Lead Group
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http://www.imathas.com/stattools/histo.html

Frequency

70 90 10 130 150
10 score

Eg Plot a histogram for the following distribution:

# Flossing per Week Frequency
0 27

1 18
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http://www.imathas.com/stattools/histo.html

# Flossing per Week Frequency

0 27
1 18
’ [
6 3
7 1

b e cloenity
+o be /_7.

Frequency

0 1.7 34 5.1 6.8 835
Flossing per week

Eg Plot a histogram for the following distribution:

: Amount of nicotine Frequency
11.0-1.1 L[4
|11.2-1.3 _

' 14-15 _ %

' 1.6-1.7 . _'_7>

1 1.8-1.9 _ ’
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Frequency

1.0 1.2 1.4 1.6 1.8

Nicotine
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225-249 |
250 —27¢ (2
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Frequency

t
125 150 175 200 225 250
Seconds
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For Professor Dean's spring pre-calculus class, scores for the first exam were as follows (smaliest to

largest):
33; 42; 49; 49; 53; 55; 55; 61; 63; 67; 68; 68; 69; 69; 72; 73; 74; 78; 80; 83, 88; 88; 88; 90; 92; 94; 94; 94,
94; 96; 100

Stem Leaf

3 3

P
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Stem

10

355

1378899

2348

03888

0244446
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Table 2.1 Stem-and-Leaf Graph

For Professor Dean's spring pre-calculus class, scores for the first exam were as follows (smallest to

largest):

33; 42; 49; 49, 53; 55; 55; 61; 63; 67, 68; 68; 69; 69; 72; 73; 74; 78; 80; 83; 88; 88; 88; 90; 92; 94; 94; 94;

94; 96; 100

lox

Slean

/75

[ea{

PRI IR VAN SRV

/]\

;‘,W-/—nj 'f/\l (oW(J/

o‘{’ Zo'}) énp/:y

M [oo’s

\/_ Memjw‘e 071 Po"

l-

Fe (Centrle

1

P Vbnk /i

Ch2a_Febl1 Page 5

lox

Steamn

=

PRI IR R VAR SV

2 oo




De{n: /'1,- measues ]1)°—<"7L"’" 7["9“’! O +» /OD, (EX"(% O to ?7)

Notubira P for #% peccensle . Nomely P i the <l P
?67 iy 777/' 79?/((/)},'/(’_ P S7 g 87tk Pfrmy/,-/(

ﬁrzwﬁ / ¢ 0‘{' X = et 07( Va/“u /f55 7%@” /00/

total nunber 071 Values

N<x
l 'L(\O-fa./ /boﬁ ()jé Y’u Scre 93 12 a4 {CL//
ow gl Jau S‘(ﬁnﬂ/ 7[0f the Céu.

1eeqy, /',

U G 2,815 18,17 20

Fod the Pewenfe of /s
S - Sort ZP 7[ / |

/ Z/ 2 /u.« fAﬁq /_S'

?,5 — "‘ 00/

- — L valnes

= §3Z = i 0/on(>

:@ of [::] — 3> *ky

Cij 6,\/14 -f/v [,i.\.("f of 5{47‘4 Values -

o 12 20 25 7 4 2 g
Fod the  peccosle of 7.

SISt 2 4 7 S o |3 20 2S
ST 2 4 e 4,7 &t

/490/

Fe/(mh/w of 7 =

Ch2a_Feb11 Page 6



Fe/(mh/w 07[ 7 — ‘?’/00%

:{ ng' of @

eg Consider the list below, find the percentile of 16:

11,2,8,17,5,10, 15, 7, 20,43, 16, 18, 21, 4; 24
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Eg. Find the percentile of the cookies with 24 chips:
19 19 20 20 20 20 22 22 22 22
23 23 23 23 23 23 23 24 24 24 % +’f“0\ /
24 24 25 25 25 25 25 25 25 26
26 26 26 26 26 27 27 28 28 30
S
7.,
4o 9%
= 4257
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43

Eg. Find the percentile of the cookies with 19 chips:
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19 19 20 20 20 20 22 22 22 22
23 23 23 23 23 23 23 24 24 24
24 24 25 25 25 25 25 25 25 26
26 26 26 26 26 27 27 28 28 30
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Eg. Find the percentile of the cookies with 22 chips:
19 19 20 20 20 20 22 22 22 22
23 23 23 23 23 23 23 24 24 24
24 24 25 25 25 25 25 25 25 26
26 26 26 26 26 27 27 28 28 30
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